

9/20/17 "Nobody can go back and start a new beginning, but anyone can start today and make a new ending." -Maria Robinson

HW: Finish "Algebra Essentials Review" w/s

AIM: Review of Algebra Essentials

Warm Up:

1. Which of the following is algebraically equivalent to the sum of  $4x^2 - 8x + 7$  and  $3x^2 - 2x - 5$ ?

(1)  $7x^2 - 10x + 2$

(3)  $7x^4 - 10x^2 + 2$

(2)  $7x^2 - 6x - 12$

(4)  $12x^4 + 16x^2 - 35$

add

$$4x^2 + 3x^2 = 7x^2$$

$$-8x + -2x = -10x$$

$$7 + -5 = 2$$

$$7x^2 - 10x + 2$$

Remember your order of operations

2. When the expression  $5x(2x+5) - x^2 + 4x$  is simplified it is equivalent to

(1)  $8x^2 + 21x$

(2)  $6x^2 + 29x$

(3)  $9x^2 + 21x$

(4)  $9x^2 + 29x$

$9x^2 + 29x$

3. For  $x = -6$ , the rational expression  $\frac{x^2 - 4x}{2x + 4}$  has a value of

(1)  $\frac{7}{5}$

(3)  $-\frac{8}{3}$

$\frac{(-6)^2 - 4(-6)}{2(-6) + 4} = \frac{36 + 24}{-12 + 4} = \frac{60}{-8}$

(2)  $-\frac{15}{2}$

(4)  $\frac{11}{4}$

4. The solution to  $\frac{x-8}{2} + \frac{1}{3} = 7$  is which of the following?

(1)  $5\frac{1}{2}$

(3)  $-14\frac{2}{3}$

(2)  $8\frac{1}{6}$

(4)  $21\frac{1}{3}$

5. For which of the following values of  $k$  will the equation  $5(2x+3)-8=10x+k$  be an identity?

(1)  $k=6$

(3)  $k=7$

(2)  $k=-5$

(4)  $k=15$

$$\begin{array}{rcl}
 10x + 15 - 8 & = & 10x + k \\
 \cancel{10x} + 7 & = & \cancel{10x} + k \\
 \hline
 7 & = & k
 \end{array}$$

6. Which of the following equations would have no values of  $x$  in its solution set?

(1)  $8x+3=6x-7$

(3)  $3(2x+1)-7=6x-4$

(2)  $4(x+1)-2x=x+5$

(4)  $5(x+2)=2(2x-3)+x$

$$\begin{array}{rcl}
 5x + 10 & = & 4x - 6 + x \\
 5x + 10 & = & 5x - 6 \\
 \cancel{5x} & & \cancel{5x} \\
 10 & = & -6 \quad \text{False!}
 \end{array}$$

7. If  $y = 10 - 2\sqrt{x+11}$ , then what is the value of  $y$  when  $x = 25$ ?

(1)  $-2$

$10 - 2\sqrt{25+11}$

(3)  $-22$

(2)  $48$

$10 - 2\sqrt{36}$

(4)  $16$

$10 - 2(6)$

$10 - 12$

$-2$

8. The exponential expression  $(-2x^2)^3(5x^4)$  can be rewritten equivalently as

(1)  $-40x^{10}$

(3)  $30x^{24}$

(2)  $-10x^{10}$

(4)  $24x^{12}$

HW: #12, 14, 18

9. The monomial  $36x^4y^{10}$  can be written as the product of  $-3x^2y^2$  with which of the following

(1)  $12x^2y^5$                       (3)  $-12x^2y^8$

(2)  $12x^2y^8$                       (4)  $-12x^2y^5$

10. Which of the following values of  $x$  is a zero of the expression  $x^3 + 5x^2 + 11x + 15$ ?

(1)  $x = 5$                       (3)  $x = 7$

(2)  $x = -3$                       (4)  $x = -1$

11. If the product of the binomial  $(2x - 5)$  with the trinomial  $(3x^2 + 2x - 5)$  is formed, what is the coefficient of the  $x^2$  term?

(1)  $-11$                       (3)  $7$

(2)  $-2$                       (4)  $9$

**Free Response Questions**

12. Write the following expression in the form  $ax^2 + bx + c$ , where  $a$ ,  $b$ , and  $c$  are real number constants.

$$(x+6)(x+5) + (x+6)(x-2)$$

13. Algebraically determine the intersection point of the lines whose equation are shown below. Show the work that leads to your answer. Check your result on your graphing calculator.

$$y = 5x + 17 \quad \text{and} \quad y = \frac{1}{2}x + 8$$

14. Consider the equation  $7x - 3 = 2(2x - 3) + 3(x + 1)$ .

(a) Show that  $x = 5$  and  $x = -1$  are solutions to this equation.

(b) This is a linear equation. Typically, we expect linear equations to have only one solution. How can this equation have at least two solutions as you showed in part (a)? Explain.

15. Given the expression  $(x - 5)(2x + 7)$  do the following:

(a) Show that  $x = 5$  is a zero of the expression.

(b) What is the other zero of the expression? Show how you arrive at your answer.

16. The cubic expression  $x^3 - 6x^2 - 31x + 120$  has three integer zeroes on the interval  $-10 \leq x \leq 10$ . Use technology to determine the zeroes. Explain how you found them.

17. If  $(x^3)^2(x^a) = x^{10}$  for all values of  $x$ , then what is the value of  $a$ ? Explain how you arrived at your answer.

18. Write the algebraic expression below in simplest terms. Then, check the equivalence between the original expression and your simplification by testing a value.

$$2x(x+5) - 4(x-3) + 8$$